Quiz 2 Hw #10






data ( 942_q2h10_212.sav
 The DV is family social support (fass).  The IVs are living community and marital status   (“marital3”).

Research hypotheses:

RH1:  People living in rural communities will report the same amount of family social support as do those living in urban communities
RH2:  Single and married respondents will report the same amount of family social support, while previously married respondents will report the least.

RH3:   Among people living in rurual communities, single and married respondents will report the same amount of family social support while previously married respondents will report the least, whereas among those living in urban communities there are no differences among the marital status groups

1. Means & Significance tests

a. Write the cell means and estimated marginal means in below (be sure to use EMMEANS to get the marginal means, do not use the marginal means from the Descriptives table)
	Community
	Marital Status
	

	
	Single
	Married
	Prev Married
	

	Rural
	
	
	
	

	Urban
	
	
	
	

	
	
	
	
	


Write in the significance test results below. 

b. For the interaction  
        
       F ________df ________   MSerror   ________     p  ________   r  ________
c. For the Marital Status main effect      F ________df ________   MSerror   ________     p  ________   r  ________
d. For the Community main effect          F ________df ________   MSerror   ________     p  ________   r  ________
2. The 2-way interaction.  We will examine and describe the pattern of the interaction using:


primary simple effect  (  Marital Status


moderator      (  Community
a. Complete the following table. Use pairwise significance tests from the appropriate EMMEANS comparison to put in <, > & = below.  
	Community (
	rural
	
	urban

	Marital (
	single vs. married
	single vs. prev.mar.
	married vs. prev.mar.
	
	single vs. married
	single vs. prev.mar.
	married vs. prev.mar.

	RH:
	
	
	
	
	
	
	

	pairwise  results
	
	
	
	
	
	
	

	Support RH: ?
	
	
	
	
	
	
	


b. Is that interaction RH: fully, partially, or not supported? Carefully explain your answer!
3. The main effect of Marital Status

a. Complete the following table. Use pairwise significance tests from the appropriate EMMEANS comparison to put in <, > & = below.  
	
	single vs. married
	single vs. prev.mar.
	married vs. prev.mar.

	 RH:
	
	
	

	 Pairwise  results
	
	
	

	Support RH: ?
	
	
	


b. To check if this Marital Status main effect pattern is descriptive or misleading, we have to compare it to the Marital Status simple effect pattern for each Community. Use the pairwise simple effects analyses from 2a to determine if the pattern of the main effect of Marital Status is descriptive or potentially misleading.
c. Is the RH: about the main effect of Marital Status fully, partially, or not supported?  (Remember, to be fully supported, the main effect pattern has to both conform to the RH & it has to be descriptive/unconditional!).
d. Let’s take a moment and consider the difference between Marital Status main effect based on comparing the weighted marginal means versus the estimated marginal means.  Fill in each below.

	
	single 
	married
	 prev.mar.

	Weighted marginal means (from Descriptives)
	
	
	

	 Estimated marginal means (from EMMEANS)
	
	
	


e. Might the conclusion about the main effect be different depending upon which set of means was used?

f. Which set of means corresponds to the F-test in the ANOVA table?

g. When there is a difference, what causes that difference? 

h. What is the parallel to this in multiple regression analyses?

4. The main effect of Community
a. Complete the following table. Use pairwise significance tests from the appropriate EMMEANS comparison to put in <, > & = below.  
	
	rural  vs. urban

	 RH:
	

	 Pairwise  results
	

	Support RH: ?
	


b. To check if this Community main effect pattern is descriptive or misleading, we have to compare it to Community simple effect pattern for each the Marital Status. Get the following set of simple effects pairwise comparisons to make this determination.

	Marital (
	single
	
	married
	
	prev.mar.

	Community(
	rural  vs. urban
	
	rural  vs. urban
	
	rural  vs. urban

	Pairwise  results
	
	
	
	
	


c. Is the RH: about the main effect of Community fully, partially or not supported? (Remember, to be fully supported, the main effect pattern has to both conform to the RH & it has to be descriptive/unconditional!).
d. Let’s take a moment and consider the difference between Community main effect, based on comparing the weighted marginal means versus the estimated marginal means.  Fill in each below.

	
	rural 
	urban

	Weighted marginal means (from Descriptives)
	
	

	 Estimated marginal means (from EMMEANS)
	
	


e. Might the conclusion about the main effect be different depending upon which set of means was used?

f. Which set of means corresponds to the F-test in the ANOVA table?

g. When there is not a difference, what causes that lack of a difference? 

h. What is the parallel to this in multiple regression analyses?

i. What would a “suppressor effect” look like in a factorial anova??

4. Write up the results, following the example in the SPSS handouts

· include a table and a graph

· incorporate whether or not there is support for the the RH:
· include effect sizes for each F-test 
